ExmEE—8

SUEWIR  SF2E1 A TR OK) ~BM2ETH31H (&) (Afh) E IRy R ER SR LN (2 b b R B
e XA TR FET B B O
ZAES 40 U4
BILUESE X XN | HXA [FS A | A oS | mfE (o) {E DOFER]
2-1- 1 JEH Eff @) ] 4,300 | /K7
2-1- 2 JigE E— @) M 3,800 |7k
BT DEECE
2-1- 3 HE L O Pt 8,100 | KR, &\
2-1- 4 HHF R O Pt 4,000 [7=1Xz. KR
2-1- 5 [Esl=10) [y P s R A LT 7 — MRS O [ 2,229 [WHZ, h= b
2-1- 6 WA —3% @) ] 6,486 | /K7
2-1- 7 vl T 4245 JIE fe @) 5] 949 |k
2-1- 8 EA BB O if] 2,478 | /K
2-1- 9 BESE MO O [ 4,000 [WCS
A itk
2-1- 10 KE B O 5] 4,000 |/KFE%
2-1- 11 D E X HIX mH fnisk O i 9,200 |fiak}
BT R Goss.
2-1- 12 bEFr, T, KA KRR O i 3,000 |fRLEH
= PR 2R
2-1- 13 KE HW O S| 60,000 |fAEl
|SE< S alEse s
2-1- 14 SEIL R O S| 2,700 |/KFE, #&HIEF
2-1- 15 ARkt (H v bR 4 duk A PR R @) S| 5,000 |BERIHFE. KA
2-1- 16 A R R P O M- 5,000 |BERIHFE, KA
[ v M T 2l
2-1- 17 ARREAL IR R O P 92,289 |FEHITFIE
2-1- 18 ZI%HT I 44 KE @) M - 20,000 |fA
2-1- 19 FE-HE R O S| 6,100 |FEHhBF3E, fidkt
2-1- 20 st FHE O - A 17,200 |fwlfs
2-1- 21 WF iz O i 4,100 |tk
NN D=L
2-1- 22 MAESHAE T 7 — 4 O i 2,855 |flfk
2-1- 23 FME (F3 O i 8,424 |7
2-1- 24 BUR kR O Pl 15,097 | ¥ B 3E
2-1- 25 hEF —k @) M -4 19,596 | /K. fEHEY
e ST My 4k
2-1- 26 AFRBRBDOT 7 — 4 O ] 6,976 [ICANZ<, KFR, B
2-1- 27 T R @) H 3,600 |ETEHES
2-1- 28 PEHR T GRS Jilkk HEiF @) H 13,000 |7KkF&
2-1- 29 JIE @) H 14,000 |/KFH




INBEK I INBEKIRN T ORI LT 5 R
ZAHE S 40 T4
DEUESE Xk HRAN | HIRKSL | s A | B o | mfg () 1EH OFER]
2-1- 30 FEH  RiL @) Dl 4,400 |fkEHED
AR 4k
2-1- 31 JE E® @) H 5,200 |7
2-1- 32 ESmET | GIFEKFIREA X Faf e BT @) ] 20,000 [7KAH
2-1- 33 e /A @) H 10,000 |KfE, w9V
HrEnT WY 4235
2-1- 34 A 5 O Pt 10,000 (A # VT v, 2AE
R NESE R A
2-1- 35 WG fh—En @) 5] 4,606 |F ¥, AAf—Fa—
v B
2-1- 36 KK HE— @) M - 4 7,237 |fEEHE
JilEmy g » —
2-1- 37 XK e O M 2,373 ;kz'f ‘%)CRS A3,
2-1- 38 [N O M- 11,953 g%zgsﬁgc Eu%)\
2-1- 39 S fi] 77 eIy 45k Hm A O 5] 15,961 |/K7#
2-1- 40 A | A% - )N mA Bin @) M 2,217 |7KF
2-1- 41 HELERT IR B &H O JH 1,458 |[I=h~ h




